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. Twoloop Shoelace Knot
Also known as the "Bunny Ears" shoelace knot (due to its two loops) or
as the "Bowknot": Make a loop with both ends, then simply tie a knot
with them. It's often tied incorrectly, resulting in an un-balanced Granny
Knot.

Stép 1: | _
Tie a Left-over-Right Starting Knot as shown, then make both ends into
"loops" by simply doubling them back onto themselves. People often
refer to these as "Bunny Ears".

4 4

R e o WRSERIE RN S0

Step 2 .'
Cross the two loops over each other so that the right (blue) loop ends
up in front and the left (vellow) loop ends up behind. The yellow loop is
now the right loop.
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Step3:
Begin to wrap the right (yellow) loop around the left (blue) loop to end
up in front.
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Step 4:

Start to feed the right (yellow) loop into the "hole" that has just been
made. This is really the same as if you were tying a regular shoelace
knot, except that you are working with a loop instead of a loose end.
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With the right (yellow) loop now through the "hole", grab hold of both
loops and start to pull the knot tight.
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Step I6:
Notice that the loose end of the right (yellow) loop drops back down to
the front left, making the finished knot exactly the same as if you'd used
the regular one-loop method.



